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extreme scalability





464 bets per second (2014)



massive concurrency





!

5,000,000 price changes per day  



high availability





365x7x24



fault tolerant





160TB data through our networks daily





high level architecture
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what if each vertex were a process?
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sports betting settlement



Bet Engine Settlement
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will it be awesome suitable evolvable





application linking





myapp
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dockerfile





docker-compose.yml













https://github.com/shortishly/elastic

https://github.com/shortishly/elastic


sports betting recommendations







the jaccard coefficient measures similarity between 
finite sample sets, and is defined as the size of the 
intersection divided by the size of union of the 
sample sets: 

J(A, B) = |A ∩ B| ÷ |A ∪ B|
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J(A, B) = |{W, X, Y} ∩ {V, W}| ÷ |{W, X, Y} ∪ {V, W}|!
!

J(A, B) = |{W}| ÷ |{V, W, X, Y}| = 1/4

J(A, B) = |A ∩ B| ÷ |A ∪ B|
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J(A, C) = |{W, X, Y} ∩ {X, Y, Z}| ÷ |{W, X, Y} ∪ {X, Y, Z}|!
!

J(A, C) = |{X, Y}| ÷ |{W, X, Y, Z}| = 2/4
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Recommendations for A = [{V, 0.25}, {Z, 0.5}]
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sport mapping









we are hiring
http://www.williamhill.com/jobs

http://www.williamhill.com/jobs

